VEER M s<F/ha- ¢ PEFE - FRIEAFSR

L SR RAE RS

xRS SIES

FRAT AR > RAEFL R ondg 7 A BAiFE |

BT ORI ITE M

Rl

1 A% 2 203EERA FAEHEFEA > 8640 1A

’

FE L o

2. AAMT G - BrAA B ENE R GFY BHLAFRF L ITY o

3. Pl P T 1€_08:00 3] 09:20 £ 80 4 45 o

4. ¥ 4

EED TG MATE >y A EEFE P E .

7

5, FERAT @R E W oo A EH Nzl L




~ L ERE (4204 J'*' a:j’fﬁ57j, T AT 17},7ﬁ§}“

L r= _if B8 5l P ﬁgmm R 3 r?
1 , 1-2r Jar+1 1-2r
(A)m B)r-+r> (C) (D) ———— ) (E) 1
;16241 i ;
2. N Jogeg | T Wy o PRI ST ST T RPAEL 2

(A4 (B)5 (©6 (D)7 (E)8

3. 9% ABCD [[1+ AD//BC - #| ZB=40° » ZC=50° -~ E,M,F,N ;j}j|t5 AB,BC,CD, DAFUf[ 1B -

“EF=x> MN=y > E'[JBCF‘%[H
A)x+y (B)2x+y (C)x+2y (D)3x+y (E)x+3y

.IjAABCHI’%a b csiHIF ZA~ /B~ LCRUSHER » =151 /A=2/B »b=4>c=5>
(A)5 (B) 2«/’ (©)6 (D)35 (E) 36
5. Fja~b~cEUgRLla®~4b=1-b*+2c=2> c*+6a=-17 flfa’ +b*+c*=?
(A)14 (B)21 (C)28 (D)35 (E)42
2 2 2 2 2 2 2 2

6 %a—l—+2—+3—+~--+1005 - 2 3 1005
i 1 3 5 2009 3 5 7 2011
(A)500 (B)501 (C)502 (D)503 (E)504

7. %] 100 {[#5a,,a,,..8, > Flfl1a, =-2,8, =1 > =l

) —_— —_ J—

e Ta-bp J%Z‘g'rt@ .

(8, —2a, +a,)* +(a, —2a, +a,)" +...+(8g — 289 +,0)° =0 * [[Ja,="?

(A) 142 (B)145 (C)149 (D)139 (E)-2
FIP (V5 ++/3)° +(fB—/3)° =3904 » | A ==

(A)59 (B)60 (C)61 (D)62 (E)63

AT, 7 9
5- f)6 PR
9. ’élf(x) XJ1-2x (0<x<= ) ARSI x——([ SELR IR, Fman=?

A4 (B)5 (C)6 (D)7 (BE)8
10. F%;’z‘?iﬁﬁivfﬁzg\ﬁﬂal ,ao,as, ......ﬁﬁi anz=anstan (N21)- F,a7=120- [jag="?
(A) 188 (B)190 (C)192 (D)194 (E)196

11. %52 AABC [[1,D Biit AB Ifji# AD=BC = AB=AC, ¥, ZBDC=30° , }{]| ZA=

(A)15° (B)20° (C)22.5° (D)25° (E)30°

\(Tj\\‘a:?



B 1 - 18 32 7Y 18 ﬁﬁ&’!ﬂfbf’iﬁlﬁﬁ fi JT*F%F He (e 2D TR 2
(A) 144 (B)198 (C)360 (D)504 (E)816

13. ABCD %~ #i% > AB=3> BC=2 P LAB I Wi 2 AP=1 557 BC -3V
-~ BrQ % CD ¥V~ BiR » % DA F¥U~ BiS - [I|PQ+QR +RS +SP Vit |- fy 5 ?

(A)10 (B)2(v2+5) (C)l‘””_‘) (D)2V13  (B)62

2010

14. A RVEREIFRRE - 2B - x> 035 F(x )+3f(—) 8x > f[f(3)="7 A
(A) 2010 (B)4014 (C)-661 (D)2007 (E) 3377
15. Z/DF,H%‘[' J AABC - El!*P = T g = F Yo Ry = (RS F YR s 15 P\ 12 \c
T PR o SIS (S PSR AR AT 20 ~ 15 - 12em? > 3R
AABC V21K =2 cm? E_|H
(A)65 (B)70.5 (C)72 (D)805 (E)67.5 'y _ O\ D

16. i/[[q‘gﬁl ABCD -~ EFGH 'FTF #U#J—@\y _X2+CE[€JPH$J—}—¢JJ%’
SRR =2

(A1 (B)2 (C)3 (D)4 (E)5 " B c

17. Z/[I‘qugl[l s g5 ’:IDLEEJ.JI/[ b BLIY S ST R PUETST jﬂzjfwj}%ﬁﬁggﬁﬁg
STVRBET S REL o SO [ S PR R 5 FOR R
AT S PR 9
(A)97.5 (B)100 (C)95 (D)85 (E)925

18. Z/pqg[lﬂ?—] v A~ B~ C = I S S IR D o S 1HIB C[n [EWl

=5 3{_ eI e 1 » [EVA S ﬂIH[EH F[J[EH Lo EI“[EI,I A F”#‘ g G
3 8 ‘

(A)— (5)2 © 2 (D)3(¢§+1) (E)g

19. ?ﬁléﬁLﬂl}AABC fﬂj)ﬁ?[ﬁj TELFASBCE E’JJU[Eh&\LpJ”ﬁ SO Rl i, =
SRR | OREEE 2 3 | S REE O AL HE R e 0
(A)6 (B)9 (C)12 (D)15 (E)18

20, [ R (I 0 g R [3.2]=3[4]=4 ), % p, g FBRETES i L0

HIG R

(A)7 (B)8 (C)9 (D)10 (E)11



CBACA DABAD BDDDC ACEEB



